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ben(X,Y)=-k(X,Y). awn

TR0 NXOH W 1991 ,Am1T) DO ,0°7017 IR KXY KD 77 TP 0D 7172 DaR
NXRY KXW WI7 72 72 OX 77721 27001170

ONWRA 72WN

tz(X,Y):-k(X,Y).
tz(X,Y):-k(X,2),t1z(Z,Y).
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U2 7730 DOIN1 DORERYT LOORENEA DX KXW WK TP
1RO RNPRWA NXY,A 9w 12 X D wxs G=[[b,a],[L]. .. ]

2 T awxo a2 1p7p xn a ,ampny G wes ?-tz(a,G, T).
a5 ooxexen nown T=[a,b,c,d,...] voon neown

mizug([ ],A,A).%1
mizug([X|Y],K,[X|Z]):-mizug(Y,K,Z).%2
tz(X,G,T):-tz1(X,G,G,T).%3

tz1(X,[ 1.G,[ ]).%4

tz1(X,[[B,A]|C],G,[B|T]):-
X=A1z1(X,C,G,R),1z1(B,G,G,S),mizug(R,S,T).%5
tz1(X,[[B,A]|C],G,T):-not(X=A),tz1(X,C,G,T).%6
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